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Marium buys some blueberries and strawberries.

Blueberries cost £4 per kg Strawberries cost £3.60 per kg

Marium buys 1-5 kg of blueberries.
She receives £6.80 change from a £20 note.

Calculate the mass of the strawberries that Marium buys. [5]
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In this part of the question, you will be assessed on the quality of your organisation,
communication and accuracy in writing.

Suzy buys a Jack Russell dog.

The dog costs her £450.

Pet insurance costs £18 per month.

Food for a Jack Russell costs £7 per week.

Calculate the total cost of buying, insuring and feeding Suzy’s dog
for the first year.
You must show all your working.
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" Every year, Aber Young Farmers club organises a sponsored walk.

This year, walkers will be charged to take part.
Aber Young Farmers decided that:

charge in pence = 3 x height of the walker in cm

What is the height of the shortest walker who will need to pay a charge of more than £5?
Give your answer correct to the nearest cm.
You must show all your working. [3]

4. In this question, you will be assessed on the quality of your organisation, communication and

accuracy in writing.

Liam buys 3 kg of apples and 2-5kg of pears. Y
Pears cost £3.40 per kilogram.
Liam pays a total of £12.40 for the apples and pears.

Calculate the cost of one kilogram of apples. [6 + 2 OCW]
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A badge is made using a metal button, a pin and sticky tape.

Lulu’s Craft Shop
Pack of 42 metal buttons, only £2.50

Bag of 24 pins, only £1.10

60cm roll of sticky tape, 52p P

(a) Elwyn decides to buy metal buttons and pins to make badges, so that there are no metal
buttons or pins left over.

He wants to buy the least possible number of packs of metal buttons and bags of pins.

(i) Show that Elwyn should buy 4 packs of metal buttons and 7 bags of pins.
You must show all your working. [2]
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(i) What is the maximum number of badges Elwyn can possibly make using 4 packs
of metal buttons and 7 bags of pins? 1]
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(b)  Each pin is stuck on to a metal button using approximately 2-5cm of sticky tape.
Elwyn plans to sell the badges to make the maximum profit possible.

(i) How many rolls of sticky tape should Elwyn buy? [3]

Number of rolls of sticky tape ...

(i)  Elwyn sells all the badges he makes for 50p each.
Calculate the maximum profit he would make. [5]
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In this question, you will be assessed on the quality of your organisation, communication and
accuracy in writing.

Sioned works in a grocery shop.
She has made a poster for the window of the shop.

Raspberries
Strawberries Today's special of fer
£8.60 per kg
........................ per kg

Sioned has forgotten to write the price of raspberries on the poster.
Mr Thomas buys %kg of strawberries and 1 % kg of raspberries.

He pays with a £20 note.
He gets £2.55 change.

Calculate the price of 1kg of raspberries.
You must show all your working. [6 + 2 OCW]

©MathsDIlY.com



MAJTHSDIY

Mr and Mrs Blanc have 3 children, Valerie, Theo and Anton. The family is visiting Wales.

Valerie and Theo are 14-year-old twins.
Anton is 2 years old.

They visit Castell Gwynhir ruins and gardens.

A copy of the entrance board is shown below.

Castell Gwynhir ruins and gardens

Adult
Child — age 3 to 16
Child — under 3

Standard
charge

£5.60
£2.30
Free

Charge with 10%
contribution towards
improvements

£6.40
£253
Free

(a) The family decides to pay the standard charges to visit Castell Gwynhir.

How much change will they get from £207

You must show all your working.
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